(D) Ammonia
< % One of the following tOmpounds is not byj]

d from a polyatomic jon?
(A) Ammomum bromide (C) Potassium sulfate K0q)
(B) Cobalt (1) nitrate

(D) Iron (I1I) chloride jec
wing is trye about

ionic compound

(D) The bond is formed due to the difference in electronegativity between
ﬁ/ individual atoms
6

. Which of the following molecule hasg the strongest bond?
(A) Oxygen molecule (C) Nitrogen molecule
(B) Hydrogen molecule (D) Fluorine molecule
13 7. What is the possible geometry in sp3d hybridization? 1,
~  (A)Linear > (C)Tetrahedral » - '_3'_"_ S
(B)-Trigonal bipyramidal (D) Octahedral
j/ 8. What kinds of hybrid orbitals are formed between sulfur and Oxygen atoms in
7 sulfur dioxide molecules?
(A)sp (C)sp°
(B) sp2 (D) spd
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nm, K =
g zggnzr::;i: 0; ztSpecﬁlc Wavelengt?i;:t’higa;jgi 1'2 m;\, and Na = 589 ¢
(A)lIron S o ighst energy?(c S i Detjr:m?e HR
i i J3xio
g &E’)'hi\:;g(—)l:: ;:rtrllie possible chemi (D)) Pc:)c:;::ilum % 396,1'
e ¢ chemical formula for ammonium te éa lé( I o‘rg‘ci I))r r: a?t:) hﬂ(,d{ :
((g)) S}?&fgfh (QCu(NHy) 1 5‘23’3 6™, 4q. 0% Fax @

(D) (NHa)[CuCly)
rt 11: Short Answer

7
1. Magnesium has three isotopes, with mass number 26, 25, and 24. (3 pts)

(a) Write the complete chemical symbol for each of them, res

pectively.
Ans: ) MC,I’ ,_SEMQ“ ,and-;%GMCI il

(b) How many neutrons are in an atom of each isotope, respegfively?
Ans: {2 , 13 ,and 14~ CHO) ¢

'3
: What are the most probable Empirical, Molecular, and Structural formula for
) hydrogen peroxide molecule, respectively? Ans:_ &sin

. HQz——and
H-0-O-H . B pts) HO (ﬁ(;/
3. Write the balanced chemical equation for a reaction when sodium™metal reacts

with liquid water would yields for the formation of base and evolutions of gas?

(1 pts) @
Ans:_2A0cs)t 2Ho0e) —> 2 VR0 HG ) Hucgl  —
4, ADB325¢g sample of methyl benzoate, a compound used in the manufacture of

& perfumes, contains 3.758 g of carbon, 0.316 g of hydrogen, and 1.251 g of oxige:’)
and the molecular mass of this compound is, M, =136 g/ mol . o q( op L/f
(A)What is the empirical formula? Ans: -C ‘ g @

< the molecular formula? Ans: &0.16 F _046 CJO'Of‘ .
% Whatflzmminum metal with a mass of 2.00 g is placed in an aqueous so.lutlon
i Strl'p f) r nitrate, causing the following reaction to occur:
VI containing 2.50 g of coppe
(3 pts)
2Al(s) + 3Cu(NOa)2 (aq) — 3Cu(s) t+ 22\1)((‘1\](;3))3
A
(A)Which reactant 18 hrrutmg.lAns . Anﬂ:. 30?5 \
(B) How many grams of Cu will form¢ AnS: 4

i c 2
(C) How many grams of AI(NOs)s will form? Ansi_2:9

General Chemistry (Cheml 101) mid exam

Scanned by CamScanner



v

/;n the given molecule NO, NO*, and NO-, ” (3 pts)
/ (A)Which molecule has the highest bond order? 7: V0! «~ |
(B) The most stable molecule is No? o
(C) Which one is diamagnetic? NO
. From the two electromagnetic wave representations; (2 pts)

II

VAVAVAVA\ R VAV

(A)Which wave has the higher frequency? I -~
(B) If one Wave represent Infrared light and the other represent Ultraviolet light,

then, T o
Which wave is Ult};&}{iole't' and infrared, respectively? and AL )
. fFor the complex [Co(NHz)s(Hz20)ClICl2; (4 pts)

(A) Oxidation number of central metal ion__* /

. L3 6/ 46t 3
(B) The condensed state electron configuration of central metal 10112@3’1—?/35[ . G q’sz 3¢

(C) The coordination number of the metalt & -
(D) Systematic name of the complex_9mine 1€l basdla) chloro-torsCv Pt
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r -worko"" Show the necessary st
| eps

'What is the momenturm, w
| * tl-aveling at 1.25><105m/5 i_f

P, 4
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